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o FYF T T [ 59 JeTH 7 JRT g 7 T F97 34 8

Please make sure that the printed pages in this question paper are 7 in number and

it contains 34 questions.

° U797 4 GG BT 79 T4 FIS T F 5H Fo-Yawl & JEI-g g7 [ord)

The Code No. on the top of the question paper should be written by the candidate

on the front page of the answer-book.

o FYT T F T [TGT & FVT G Ye, T B HHE T [

Before beginning to answer a question, its Serial Number must be written.

o FUCYTH % T 7 Grdl g/ G T Eig)

Don’t leave blank page/pages in your answer-book.
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o FTCYRTH B SANFT HF o dfic Ta AN T FTITEATAN & [ Y frEr Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o ghEreff o1 U To FIT-GH GT 7FST [or@)

Candidates must write their Roll Number on the question paper.

» U FeT F FAC 37 & g7 98 GARaT FY @ [F FeT0H [T T @& &, qOer % ST 56
T 7 g o qrar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

dle: () g7 FE 1 G 3 7 G P § 797 Bforwr 9 T 597 ST &

Attempt any two questions from question number 1 to 3. Rest questions

are compulsory.
(i) JEF FI7 & 3% F7% @ 97 T 8

Marks of each question are indicated against them.
(iii) 37T9% FTC HEAR &7 T

Your answers should be according to marks.

1. 58 7 YBR & AfST A IO B 6

Explain any three types of welding.

2. FI9E A @ GHT & I gl 6

Write steps for tuning of ignition system.
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3. UFR TgT & 3 & & I I qB B a9 B 6

Explain hot patch method to repair puncture tube.

4, U B b T & FE H IO B 3

Explain functions of good braking system.

5. fe%F 9% IR eEIf® 9% & T B 3

Explain disc brake and hydraulic brake.

6. TGIMH TAX & A9 1§ ? 3

What are advantages of tubeless tyres ?

7. DT @ B TS P H =IO o 3

Write steps for adjusting wheel play.

8. M ¥l & R |l Bl AT B & v B 3

Explain setting of various parts of gear box.

9. I ufear ared H W @ TSRCHT H gUN e 3

Explain free play adjustment for two wheelers.

10. &9 § T BT &S H €& & =W ferd| 2

Write steps to remove broken studs from hub.
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11.

12.

13.

14.

15.

16.

17.
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T g & SR B gdF B RO [

Write steps to determine the centre of circle.

TH dARY & GG Hl ST B & Ol o |

Write steps to bisect a given segment of line.

YeaihT & AT FA B 7

What are the benefits of networking ?

W a9 # ST B ?

What is the aim of Green India Mission ?

[ SgfewcdE 999 |

[ Objective Type Questions ]
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19.

20.

21.

22.

23.

24.

25.
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Tyre is mounted on .............. .

............. T I TR AT B

.............. tyre is traditional tyre.

BT oo MR Rt &t 2

Slackness causes ................. gear shifting.

ﬁﬁwmﬂrpm%ﬁ%mﬁmal

............. device is used to read rpm.

forfae damer ... I BT AR S
Written communication is ............. type of communication.
T H DI B TER oo F ARHYH Fea & [ BNl sl

AT ATeA B A ol W A USH T oo e 3 Bl

The clutch free play for four Wheelers is ........... mm at clutch pedal.
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26.

27.

28.

29.

30.

31.
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BIRRT oo B Fad [T I Wi B AT B TEAd B 1

Forming changes the shape of raw stock without changing its ........... .

JfeX | TeM ard A9 ool B Herdl ¥ i W d WA H B & TEAT ..o
FHEl ol 1

The process of removing material from workpiece using power driven machine

tools is called ............ .

T THEGYS § T M B 2 1
A rhombus has all .............. equal
MR X & MR A S AT D@ e % JANT § TSoRE AT ST B 1

Gear lever with gear rod excessive play is adjusted by using ........... .

i TR F A BE & T S T s o W M-8 oS Taer =AUl |
For normal wear of tyre, all four wheels should be shifted crosswise after
every.......... km

SEH T oeennnnn. BIES) gral %| 1
(A) S (B) 6

(C) 8 (D) 10

A decagon has .............. sides.

(A) S (B) 6

C) 8 (D) 10
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32. UeFM %1 UdE STARE BT ......o...n. feilt a1 2 R 1
(A) 60 (B) 72
(C) 90 (D) 180

Each interior angle of pentagon is of :

(A) 60 B) 72
(C) 90 (D) 180
33. IR TH WET A T W A9, A d TH GaAL B oo HIT W FH Bl 1
(A) 60 B) 72
(C) 90 (D) 180
If one line is perpendicular to another line, they intersect each other at
......... angle
(A) 60 B) 72
(C) 90 (D) 180
34, ... ROl ® a9 7 &l 1
(a) (B) X
(C) = (D) Refierx
............. is not an element of communication.
(A) Time (B) Sender
(C) Channel (D) Receiver
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